#3: Using this TOV, create an equation wrltten in the NEW format.

_ Figure Number | . Number of Blocks
1)<L'/'1” = S5 \+Y
2 9 ¢
3 13
0, | = 5]
50 x Y + ; = ZCD!?
Equation from TOV: A\Z b /’F + | =

/0\ -> re-write equation \'{ X 497 }/’ "’/(/\\
FINAL REWRITE of eqUation in ‘NEW’ format: cf)/.,u = /- U

#4: If this pattern contlnues how many small beads w1|l l\/lsT need lfshe uses 60 and 100 large beads?

Il X2=-{D= 34+3
2 6 &
3 9
0 x 2 -1O = |§0
00,2 ~-[0 = 200
Equation from TOV: /é/ K 3 = /J_/ —)re wrlte equation jé(/ = /J/
FINAL REWRITE of equation in ‘NEW’ format 2 )

D,K 4.,,4

#5: Using this TOV, create an equatlon wrltten in the NEW format.

n ‘ber of Square T|Ies

WX Z + |4 = K4
0 X2 |14 = (27
rEquation from TOV: D X (72 -+ l/f = A_ = re-write equation 9-2/\/,{[, - L’f P t
FINAL REWRITE of equation in ‘NEW’ format

Q/J__.'f"/"f"f

—




#6: Using this TOV, create an equation written in the NEW format to use to obtain the values for
shape # 20, 70.

Shape Number Number of Blocks
1 - —_ 8 _ ,
X3+ |S = N D
2 11 &
3 14
20

c_.;? \ O 70

r—

X2+ |8 =68

X 5 + K =2l

- i < ) /‘/
EquationfromTov: 2L v J 4+ b = /Z/‘ > re-write equation 5 X b £ 5 = /Z”
FINAL REWRITE of equationin ‘NEW’ format: 2. | 4 D> = _{~

#7: Using this TOV, create an equation written in the NEW format

_ Figure Number | Number of Blocks
1 X234\ = 45458
2 7"
3 10
30 x 541 =917
50 X % 41| =507
100x & 41| ==201( 72
/ , /
Equation from TOV: E,Z X B34 = /O\ > re-write equation S X &l/ + | :/é”‘
FINAL REWRITE of equation in ‘NEW’ format 2 { = fUr Y

#8: Using this TOV, create an equation written in the NEW format

Flgure Number Number of Blocks
1 )( % - Q = 25 Ny
2 10 &
3 16 o
, p L AS
20 x b 2 = 238 &Y
80 X [» =2 = Y7& YLD
10 x b—-| & = 59&
" Equation from TOV:

//
P

/ . )
%\L % Q/ ’”92 :/é""’ - re-write equation é’XQ}'Z”

FINAL REWRITE ofequat%on in ‘NEW’ format /o /,L — ) = ///f,
(/




Lesson #1 title: PART 1 = MORE PRACTICE Creating equations Date
YOUR TURN © We need LOTS of practice

#1: How many toothpicks would be needed for picture #20?

Picture # Number of toothpicks
2 7 ) + 2
-
pr=a
4 11
20
ExpRessON: 0/ X 2 4+ 4 = T

The EQUATION is .4

o 1l f’:\\ -+ 51:* = /’_ﬁf;‘
/ WO ( 5 4 : T
ﬂm’ i b
#2: How many shovels would be needed for structure #40, 50, and 1007? /
Z
S):ructure # # of shovels
v Téy L 2 = - @
1 4‘*"‘" ) i L 6 k)} %,‘ z—z‘)
.
2 9 T 4R
e
3 12
| 2 O L | = | 2.5
50 & e1, (j ST 3 “"'7, .;‘:D
. i\,,f’é 3 ~Y;J s i ._,/ ‘.J
3 v, - 3 e [ |
Wx > +3 = BOZ
EXRRESSION: D xS 4+ 3 = N
EQUATION: L D+ 3 = oAy > BEFES O
#3: Create an equation to figure out how many cellphones are needed for figure #70
Figure # # cellphones
- 2. % F r =
1 /s;{: < 4 K,./) = 2 \) + j
2 6 &
3 9
7 O f”}‘gj\ s ‘f) 51‘ L.;D - "’{;/;) 3‘ ;>
EXRESSION: /. w2, +( = ,_  EQUATION: ¥ =  + [\ = A ,

Vi



#4: Create an equation to figure out how many sweaters would be in terms 40, 80,100

Term #

i# of sweaters

40 % & 4 i y p— s ’; "”@
N - ,(\ e & e - ﬂ 7 ‘43 . -
(’1‘ =
D4 o { P ,F. 0‘"}
80 ,,’{"L\ ‘n—:ﬂ .,r-— f 2t J :) i

2 .
“

»d?-"f‘k“ [ J by S— A
A X5 = | & = 4/
- s = . p— =i
. = e R | W + § g
A ) T | & 2 ke

#5: Create an equatidn to figure out how many sticks would be in figure 60, 90

Figure #

# sticks

& ’ o= ¥
1 4 \ - ;E - 8 gy wb |
AN § > 3 {
2 9 &
3 10
1 o
£ e Ly e (‘lf - ;’:r"
o0 T | 7 (e
i L. ﬁd?:' e )‘(;! -y .
33 ““{ ‘r;;l,:.v e h"_.’( ‘T,f,n
EXPRESSION: 5 7 =
i Vg i ) y st 4
EQUATION: v -l 4+ 5 - / A

B ;
#6: Create an equatioﬁ)to figiu}e ou

t how many cars would be in ﬁicture #100

picture #

# cars

e

Z

1

3

[

4

S 4
5.,;{

dm '\,5\ 40 )u{:\ - ~ — ‘% g
- 2 ~ > | ok o
\ ;:: ") 50 X Q o] P { ;‘J
- 100 x = E:'Z' " (Z— i } [
XPRESSION: /0 »¢ &y == = 7
EQUATION: 2, 2 -2 = 0




YOURTURN ©

#1: Using this TOV, create an equation to use to obtain the values for terms # 20, 50, 100.

Expression is

, Fig eNumber o Number of Blocks -
RN g
! xlf' +{ = +'+
2 x4 ¢ | = ‘>
x4 vl = 1_3 \+'L
FTTY LA
e 41| = 8l
k¥ +)| = A0
Oyt +1] = 40

Equation is

== = !

4+If%~
N X 4 -

b 1

/&/

#2: Using this TOV, create an equation to use to obtain the values for terms # 40, 60, 100,

Expression is

. s““‘f" Number | Numberofsauaraies”
X -? +Q’ = . Yy ¢
2 X R ""l‘ - 8 z\ +2_
e 2

4 X -'l +‘f = R (

6°x2 +‘f

LT

100 x Q ¢4

20%

Equationis

A x4 g

e

— gy ] =~

rah, e T



Lesson #§; MORE PRACTICE Creating Equations from TOVs.
NOTE: YOU NEED TO BECOME REALLY REALLY GOOD AND EFFICIENT at creating equations!

OO XSIFO!

Expression: /72X,

- Equation: .|~
.| Whatis the |

- _. l{;: . 3
[ Expressiongl g P o,
[Whatisthe |
+| 1000t |




